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Int foo()
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char *rtn; BR7ELA
char buf[10];
gets(buf);
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« buftest.c
e test.dat

OV NAJLL,EST
« gcc buftest.c —o buftest
« ./buftest < test.dat

#include <stdio.h>
#define BUFLEN 200

int main(int argc , char **argv)

{

}

char *rtn;
char dmy[BUFLEN];
char buf[BUFLEN];

memset(dmy,¥0',BUFLEN);
memset(buf,"¥0',BUFLEN);

printf("before¥n");
printf("buf(len:%d) = %s¥n" strlen(buf),buf);
printf("dmy(len:%d) = %s¥n" strlen(dmy),dmy);

If((rtn = gets(buf)) == NULL)
exit(1);

printf("after¥n");
printf("buf(len:%d) = %s¥n" strlen(buf),buf);
printf("dmy(len:%d) = %s¥n" strlen(dmy),dmy);




